112 B EE 20 FEFSEELH HEERIR S & EBERELE D & sEEmALE
X | KE 8- B E@= e B3 B
A v (- )¢ Fw .
402 EERDTRCEFEC enpy om0 S PRRIHO
D3 D2 — D4 0900-1200 LE T HEZ WS
10:10
11:00 | 4oq |5 A#EH ¢ F(- ):HRY O RAEH v (- )Y FHEO+
D4 5 R R D;MT]??:#)’L?#%#E
11:10 BEEGT (-) 0+
12200 |, o] = & FH (0 #) FATEE 25 X0 e L E)
% F D2-DA i #=* & D3-DN
DN R __
202 rErPO S WFLEF g O IFEH T (- )Y REO IMTIE S F £ - fLitsr (- ) ©
5E i 5 % D5 - D7 B g F
D5 (2] o @ 8 Lo
13:40 | 409 | =G * 2 g B iV Ha T D D £:F% lfé:k).t’ Fx0
14:30 # B x -
D6 T :
. 7¢O+
14:40 | 410 \
15:30 R‘*""*’% ELES :
v L RAILR A RO+ P )
A 33k @ES409 i 1338 4 % #8% 1400-1700
DERIESiErt e (JELL R | @° F 2 4797 2F € & % (R204)
402
S - XL F(- )ERY O - _
I B BAGHS GiR(Y #) © £ SR ”’;ﬁ? sl
15:40 b - *‘if‘f(,‘};)”‘ #%0 A B (D5-D 9 AP LR(E—HREE)
16:30 WAk
D8
16:40 | 410
17:30
. FEFT LA § BE
4 _D8-E1 0430-0730 @FG308
EO it
SIMT] R % F K t2:#4 O+ 7 3
202 IMTIE R 2 A 2 B0+ | (2AXEE - aEES0E) | MEpLs: 3270
£l % it 2
E1
18:40 | 400 | [MTI¥ & FHiESH r 3O LG FHEO [FT1§ AP & 3/ 0+ [MT]® # Fgp$taT #0
19:30 A 7% L/ R R o T
E2 [FTIRA 52 25380 = —FRFR(yrl)
19:40 | 410 # %’ﬁ E1-E3
20:30 & THERRR(2) a
IMTIF % 2 225 & 9 73(- ) IBFRRNEREEE
H o 0+ T AR ERRAERER
& 1 i @LW201 = BRSEEEERERE
E3 = MEEETESERE ||
20:30 (409 # BWtF/sESiE/LLiERE
21:30




